ARE 4

CIRESEY)

Wiz b5t H 0t
_ B Fal - | 4
FRT | % | R N 4 H
Te |
X4 9:00([13:00] 18:00 | 9:00 | 13:00 | 9: 00
12 : 00[17 : 00 21:00 | 17:00 | 21:00 |21 : 00
M M M M M M
Tty PR |7~ F 2 T AR OE &
. 9,600[12, 800 19, 200 25,600 35, 200 48, 000,
b (AR—=Y  |1BEE
fifi | (BRELZBRIASSEE % 2 15 L
4,800| 6,400 9,600 12,800 17,600 24, 000
A <. ) AYRS EE
T~F 2T | NGE [ERE BT
. 1 72, 00096, 000 144, 000 192, 000[ 264, 000| 360, 000
AR—=YLANDFEE (& T HGE
D AR — [N T [EFE B
Y (BRE A |D S |& L |36, 000[48, 000 72, 000] 96, 000 132, 000| 180, 000
<, ) =
AR (B En%
DOHZE |BIET D |33 000/44, 0000 66,000 88,000 121, 000| 165, 000
ML e
NG
N TR
a By & L7 |16, 500022, 0000 33,0000 44,000 60,500, 82, 500
WA
ER Y AR $E A 103
42, 000|56, 000 84, 000 112, 000| 154, 000[ 210, 000,
L5556
AR DR A U L
19, 50026, 000| 39, 000| 52, 000 71, 500] 97, 500
RN E
A A (1 A4729) 2000 250 500 — — —
BB Fie I 3idy 3, 000| 4, 000 — 8, 000 — —
54 —
R 1, 800| 2,400 —{ 4, 800 — —
MEAfFEA (1 A47-0) 1500 200 — —] —] —]
e C &R Pl b AE 1, 800| 2, 400 — 4,800 — —]
e B (1 A47-0) 150 200 — —] — —]
PR i 5 5 _ 1, 800| 2, 400 — 4,800 — —
A A (1 A4729) 1500 200 — — — —
rL—= Pl S 600 800 1,200 1,600 2,200 3,000
74 B AR (1 A%47=0) 1500 200 300 400! 550 750
1 EEE= (1=Rl2Ho%) 450, 600 900 1,200 1,650, 2,250
2 MESEE (1=RIZHoX) 600 800 1,200 1,600 2,200 3,000
wE=E (1=]IZHo%) 450 600 900 1,200 1,650, 2,250




k=
1 M ZBE AL SO, TR (1RO 20 & i3, 1R & B4, )
2D &, MBI OO 1 RN & T 5,

2 /INFROWE, PEREEEFROEET N ZNHICET 25 BNERT 251285
BN E, Y% R OFED 2550 1 IS 558 T 5,

3 tREH. HERKOEROMBIZET DERICHET 2R BITERT 5560 HEHE, 4
EREIORED 2 BTN T 2835, 2L, EAEROEAIX. ZORY TRV,

4 WARIHEDMER T 256 AXHAFIHZE RSN T E 5 REE THEHT 258 O kT,
MELGE R OFD 2 (FITHY T 28T 5, 2L, EAERAOEAIX. ZORY TR,

5 Ty MEFEHOBAICRS, ) ZRAZHEWENT 556 O N, LZERE O
U300y (BOITHi /=72 & ZT, 300 & AT, ) IZO&, WRICHIT DA ME LM e+
Do
(1) &EfzrI425%8 900H
(2) 3730 2%xITT 255G 600H
(3) 2501 %KMTT 255G 450M

6 FEABIOFEIZ 1 FIRmM O E LT & Zld, ZOMBEHEEZUIVIETLI D LT 5,

7 A OO NI OW T, BAITED 5,




